Geometry CC . Name: m

6.1-6.4 Review #2 Date: Period:
*%QUIZ HAS BEEN MOVED TO TOMORROW!% *

Find each measure:
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7. Write an equation in point-slope form, y —y, =m(x —x, ), for the perpendicular bisector of the
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segment with endpoints A(-1, 6) and B(3, 4).
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8.KZ, LZ, and MZ are perpendicular bisectors of
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10. JV and KV are angle bisectors of AJKL. Find each measure:
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11.InAABC, AF =9 and GE = 2.4. Find each length: @ {5 4, . c o ntveidl,

a) AG=_?3-)_(AF)= %@ % 2@
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12. Find the orthocenter of a triangle with the given vertices: #=5:8}, Q(4, 5), R(-2, 5).
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13. Find each measure: PQ &y Q& oo mt Asa_%m ans
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